APPENDIX "A" - CHAPTER 430
RICHLAND CENTER SEWER RATES
As approved by the Commission

The following rates shall be in effect for consumption following the regular meter
reading date in the month of , :

CATEGORY "A" (Typical Residential or Commercial Users):
Minimum Monthly Charge $
. +Volume Monthly Charge $ /1,000 gallons

CATEGORY "B" (Atypical Commercial/Industrial Users):
Minimum and Volume Charges as in “A”

. +Surcharge when over 270 ppm BOD $  /lb of Excess
. +Surcharge when over 250 ppm TSS $ /b of Excess
SEPTIC TANK WASTES:
Volume Charge $ /1,000 gal
+Surcharge for over 270 ppm BOD
(Estimate @ 5,000 ppm) $ /1,000 gal
+Surcharge for over 250 ppm TSS
(Estimate @ 15,000/ppm)  § /1,000 gal
Total Charge for Septic Tank Waste $ /1,000 gal
HOLDING TANK WASTES:
Volume Charge $ /1,000 gal
+Surcharge for over 270 ppm BOD
(Estimate @ 750 ppm) $ /1,000 gal
+Surcharge for over 250 ppm TSS
(Estimate @ 1,500/ppm) $ /1,000 gal
Total Charge for Holding Tank Waste $ /1,000 gal
PERMIT AND INSPECTION FEE
FOR NEW LATERALS: $
CONNECTION CHARGE FOR
NEW LATERALS: $

LATE PAYMENT PENALTY: Bills not paid within the 20 day prompt pay period shall be
assessed one percent (1%) of the unpaid balance.

DISHONORED CHECK PENALTY: A penalty in the amount established by the Public Service
Commission of Wisconsin shall be charged for each check returned from the drawee bank which
was dishonored for insufficient funds or for any other reason. The penalty shall be charged
against the sewer billing of the account for which the dishonored check was tendered.
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APPENDIX B - CHAPTER 430

The permit exceedence charge shall be calculated as follows where:

AD = Actual wastewater discharge of BOD in a day

PD = Permitted 5 day average daily load for BOD in Ibs/day

CB = Surcharge per pound of BOD as established by paragraph 430.09(8) and

Appendix A

PEC = Permit exceedence charge

Level 1:

Level 2:

Level 3:

Level 4:

Level 5:

Level 6:

If AD < PD(1.45),
Then PEC = AD - PD(1.2) x CB

If AD > PD(1.45),
Then PEC=PD(1.45) - PD(1.2) x CB + applicable charges from Levels 2-6

If AD < PD(1.70),
Then PEC = AD - PD(1.45) x (2)CB + applicable charges from Level 1

If AD > PD(1.70),
Then PEC =PD(1.70) - PD(1.45) x (2)CB + applicable charges from
Levels 1, 3-6

If AD < PD(1.95),
Then PEC=AD - PD(1.70) x (3)CB + applicable charges from Levels 1
and 2

If AD > PD(1.95),
Then PEC = PD(1.95) - PD(1.70) x (3)CB + applicable charges from
Levels 1, 2, 4-6

If AD > PD(1.95), and
If this is the first time the industrial permit holder has exceeded the 1.95

PD Level in the calendar month,
Then PEC = AD - PD(1.95) x (5)CB + applicable charges from Levels 1-3

If AD > PD(1.95), and

If this is the second time the industrial permit holder has exceeded the 1.95
PD Level in the calendar month,

Then PEC = AD - PD(1.95) x (7.5)CB + applicable charges from Levels
1-3

If AD > PD(1.95), and
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If the industrial permit holder has previously exceeded the 1.95 PD Level
more than two times in the calendar month,
Then PEC=AD - PD(1.95) x (10)CB + applicable charges from Levels 1-3
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